Name _____________________________________________________________________ Hour ___________

Heredity Problems Homework



Score: ____ / 16
Punnett squares are used to predict the probability of possible gene combinations of offspring in a cross. The genes are represented by letters---a capital letter for a dominant trait and a lower-case letter for a recessive trait.  The following letters will be used in this assignment:  Alleles = The forms of a gene represented by letters so that we can understand. 
	Trait
	Dominant Allele
	Recessive Allele

	Flower color
	Purple (P)
	White (p)

	Seed shape
	Round (R)
	Wrinkled (r)

	Pod color
	Green (G)
	Yellow (g)

	Plant height
	Tall (T)
	Short (t)


Vocabulary that you need to know for this assignment: dominant, recessive, allele, homozygous, heterozygous, genotype, phenotype ratio, probability.  

Sample problem:  A plant that is heterozygous for green pods is crossed with a plant that has yellow pods.  What are the genotypic and phenotypic ratios?

Step 1:  Find out what the parents’ genes (genotypes) are.   Gg x gg

Step 2:  Complete the Punnett square to visualize possible results of a cross:

	
	

	
	


Step 3:  Figure out the ratios for genotype and phenotype.


Genotype ratio = 1 Gg :1 gg  (reduced from 2 Gg: 2 gg)


Phenotype ratio: = ½ green pods and ½ yellow pods, or 1 green: 1 yellow.

Practice Problems:

1.  Pp x PP






2.  Rr x rr

Genotype Ratio =






Genotype Ratio =

Phenotype Ratio = 





Phenotype Ratio =
3.  Tt x Tt





4.  Cross two plants that are heterozygous for green pods

Genotype Ratio =
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Phenotype Ratio =




Phenotype Ratio =
5.  Cross a plant that is heterozygous for seed shape

6.  Cross a homozygous tall plant with a short plant.

      with a plant that has wrinkled seeds.
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7.  Gg x gg





8.  Pp x Pp
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